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CYHAEIEAYAMS (M SX/HAHSE)
IFAIE AL

M- E8 e (30) - ALY - B AR 0l b SSa DS
= 620
—CEAEE E22 MZE  2,400,000& *23| 4,800
= 4,800
= &l 7,000 x2H »602 840
= 840
02 =224l 5,800 5,800 0
O=N2 XA 5.800
~CEHAEE 2223(XII23 9 33)
200,000& =128 2,400
= 2,400
— X=Xl 200,000& 122 2,400
= 2,400
— Lheh| 200,000 52 1,000
= 1,000
03 &Ar2 I 18,000 18,500 A 500
OZ2HEx A 18,000
— T (ALY, B8, SX)EHA2Z
500,000& »23| 1,000
= 1,000
—2HE, d=ge, GEHEZ
4,000,000& =13 4,000
= 4,000
—d4FZF0NY AdF= BH 3,000,000 *28] 6,000
= 6,000
—JIE2s3 At 7,000,000 12 7,000
= 7,000
202 o4 Hl 8,400 7,800 600
= 8,400
01 = LH 4 Hi 8,400 7,800 600
OZ3HIE= A 8,400
—CEHARHE dF2uUSs0H ¥ 2204
120,000& 53X 83| 4,800
= 4,800
—JI2ZH 22X 20 ]
20,0003 *3H 52 «12& 3,600
= 3,600
301 et a = 134,700 135,300 A 600
= 134,700
01 MEIBZE 2063 126,000 126,000 0
O=HIEx A 126,000
-8 2 U Z20% 29 42,000,000& 42,000
= 42,000
—=X Z208 2Y(HE) 42,000,000& 42,000
= 42,000
-2 Z20¥ 2Y(H=E) 42,000,000& 42,000
= 42,000
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Sl RIPAIY ALY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
09 HALAHIEA S 8,700 9,300 A 600
OZHIEx= A 8,700
—HEgss 40,0003 *40H 43 6,400
= 6,400
—R2Ns A AL B&3
20,0003 x20E *43| 1,600
= 1,600
~CRAEBE I 24X 243
7,000& x25H %43 700
= 700
307 gl2tol & 25,000 22,000 3,000
= 25,000
01 222l 25,000 22,000 3,000
OZHIEx= At 25,000
— QSR (HE) ¢ HLBAFA1F])
50,000 *300H 15,000
= 15,000
—HgES(HRZ 2 45) 50,0003 *200H 10,000
= 10,000
HAROZSIN (MBS /HLHEXRH) 29,769 25,972 3,797
< 3,749
i 26,020
Hel20=2=s20I 29,769 25,972 3,797
< 3,749
s 26,020
MISXAELHA20SEIIAMLY 25,720 25,720 0
201 Let2d] 3,920 3,920 0
01 At 22l 3,920 3,920 0
OMIESXNEEI=2E &ARAE =
70,000 *12H »23] 1,680
O=ZHI (At ST AIE=2]) 7,0003 x4 »80 2,240
202 O4dl 4,800 4,800 0
01 = LH 4 Hi 4,800 4,800 0
O2AZE AMSI=XEH X= 20,0002 «4H«60 4,800
203 YR =&t 7,000 7,000 0
03 A BFAH S =AY 7,000 7,000 0
o4& B & A 100,000& *302/ 3,000
OAZ FO=XAY =7 4,000,000 4,000
301 et d = 10,000 10,000 0
01 MEI2EZE+05l= 10,000 10,000 0
OMSIZXAE L sHH0tS 9IS
10,000& *1,000& 10,000
omMeEs+s 300 252 48
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VEEXEEED]

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
201 Le-2d| 300 252 48
02 3322l 300 252 48

OMl S EXN SEZEANLE SRS

25,000& 123 300

HASSStMUSH XA 3,400 0 3,400
< 3,400

101 1A bl 3,400 0 3,400
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04 JIZHHZ2XNHESE S+ 3,400 0 3,400
OEHIEZAY 3,400
—QI2Hl ¥ 4UEEE 3,400,000& 3,400
< 3,400

Mol RS W= 349 0 349
< 349
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< 92

301 L2 A S 257 0 257
= 257

09 HALAHIEA S 257 0 257
OZHIEXZAY 257
—Moll2sus 8% 243 257,000& 257
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HM: O|2BLENI=ASEXN RS (AMEX/FHLHESXH)
Sl RIRTAHE SAY CERED
5 - 4
S EH B (BH) - MBAY - BAS Ol At o %@i HRE2
401 AlEHIZL 2 0HY| 70,000 0 70,000
01 Al&H| 70,000 0 70,000
O g2dd 70,000,000 x 1Al 70,000
SEER22NI A2 XA 1,100 1,000 100
& 550
= 550
307 giztol A 1,100 1,000 100
& 550
= 550
02 AI2tAAMAIE E =X 1,100 1,000 100
OEZHEXZANY 1,100
— S8R Z2L BAa 1,100,000 x 14! 1,100
& 550
= 550
FOMETRAAMEAMARES (AL 2 X /ALEI S XL EH) 85,918 51,112 34,806
& 6,000
= 79,918
FOIME T NHH A 85,918 51,112 34,806
& 6,000
= 79,918
Z0IMET] 2 A A 14,140 13,612 528
201 gEt24y| 1,500 1,900 A 400
01 AFR2 22| H| 1,500 1,900 AN400
OF0MEMHHIA EE22 HE 750,000 *23| 1,500
202 o4l 6,000 6,000 0
01 2Ll 6,000 6,000 0
OAMBIAAH L XS XS XA
20,000 3% 100 6,000
301 LBt A= 4,240 3,552 688
09 HAIAHIBEAZ 3,840 3,552 288
OF0ANBARAS I & 2LIHYE 39
A B AL 60,000 x40 2,400
OMEZZAM DLIEH FXH
10,000 «12H x 123 1,440
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NEAMNSIBEHEAM A 8,100 37,500 N 29,400
201 gBt24d| 7,200 6,600 600
01 AFR2 22| H| 6,600 6,600 0
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H: FOUMESRAMUAMHATRS(AMSISX/ALS S X L6t
©: FUMETRAMHA (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O e8| 1,000
—NRY 2BIY(MRSE S)
1,000, 000& 1,000
OXYA2E2EZEAN a2
70,000 x20H x4 3] 5,600
02 2324l 600 0 600
03323 (s88e23) 50,000& 123 600
301 gtEd= 900 900 0
09 SALAHIEA S 900 900 0
OXNGASEZEAM 2tAL nEEFA=
60,000& x53] 300
OXNGASEZEAN Fd neFA2 L
60,000& x10H 600
NEASEHEAM2E (=) 63,678 0 63,678
< 6,000
[ia 57,678
307 21201 A 63,678 0 63,678
< 6,000
s 57,678
11 AL SRAEE = 63,678 0 63,678
OZHEx=AI 63,678
—NAAIEEEAM 2F (1HA)
63,678,000 63,678
< 6,000
e 57,678
ZUHASXSE(MISX/HLHESXHA) 7,228,583 6,931,439 297,144
= 3,999,867
< 1,084,960
i 2,143,756
A ZET 2 2,121,370 1,997,830 123,540
= 1,387,819
< 458,184
s 275,367
A QA2 I 100,200 100, 180 20
< 47,200
s 53,000
307 gl2tol & 100,200 100, 180 20
< 47,200
s 53,000
10 AL SXAIEEE2EH EX 100,200 100, 180 20
OZHIEx= AL 100,200
— MIISXAIE SAR =<(33Y)
85,800,000& 85,800
< 42,900
[ia 42,900
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SH: FOIMEX A
HF: HOL=EXNSE(AMISA/FHLHSKE)
&S HHA=EXSH
. SfE|
SA - BB B (BA) - MM - BHES Ol &+ o4 e
O& XNHMZEOQ ots thal &t
60,000& *x30H 1,800
OMZ EX0o otetE sl =t
60,000& x20H 1,200
OEXZO & &AL &4 60,0003 x45H 2,700
307 21201 A 20,000 20,000
04 QIZFHALAIH B = 20,000 20,000
OFMee & A 2 2XNS8Ua N
20,000,000& x13] 20,000
ZHU==2E2Y 98,064 98,064
307 glz2+ol & 98,064 98,064
11T MIZSXASEEX 98,064 98,064
oZMoSSY HF2YY X
1,442,000 128 17,304
ooer==Y 294l N&  6,730,000& 128 80,760
EMAHEA2E 60,000 60,000
307 21201 A 60,000 60,000
05 RIZt2IEt = 60,000 60,000
OZEHNOUEA 2g A 22l
30,000,000 »2CH 60,000
ZoHUH R =2 8,900 8,900
201 B2l 5,900 5,900
01 At 22l 5,900 5,900
OBWALREN S2X S4H|
7,000& »4H x75 2,100
OFoel mogE M= 1,000
—Asx EXN Y B MA
10,0002 = 1000H 1,000
O EsId AAJds =& 2,800
— == 4 B3 70,000 »4H x63] 1,680
—0lgaE 233 70,0003 x4H x43| 1,120
202 O4dl 3,000 3,000
01 = LH 4 bl 3,000 3,000
OZMAANE XN=EZ 20,000 »3H 502! 3,000
ZOH QI EHHI K& 16,000 16,000
307 glz2+ol & 16,000 16,000
03 BIAHMHE2IHIEE 12,000 12,000
OZMIHHM & X& 12,000
— XA Z0H el & 3 12,000, 000& 12,000
11T MISXASEX 4,000 4,000
OANAZZOHCIEa SXALS X & 4,000,000& 4,000




SN FUMEXEA
HF: HOL=EXNSE(AMISA/FHLHSKE)
Sl HoHoI=X B (B9 ®R)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
ZOHOISEAMS 15,400 15,400 0
401 Al I 2 O8I 15,400 15,400 0
01 A& Bl 15,400 15,400 0
OFe OISEHAMS ALY
1,400,000 * 110 £ 15,400
ZofelY Xl At 374,346 334,134 40,212
= 180,625
< 59,425
[ia 134,296
ZOHI =KL X2l K& 127,080 105,948 21,132
= 63,540
< 19,062
s 44,478
307 21201 A 127,080 105,948 21,132
= 63,540
< 19,062
2 44,478
11T AL S XA E X 127,080 105,948 21,132
O=HIEZ ALY 127,080
— O SXLXel NAAL(27F)
127,080, 000& 127,080
= 63,540
< 19,062
i 44,478
ZOHHE ER0IALY 234,170 215,090 19,080
= 117,085
< 35,125
s 81,960
101 @124 dl 234,170 215,090 19,080
= 117,085
< 35,125
s 81,960
04 D122 2 XS 234,170 215,090 19,080
OZHIEx= At 234,170
— ZON A =20/ AP (13Y)
234,170,000& 234,170
= 117,085
= 35,125
s 81,960
UM EFANRHGSC 20| 13,096 13,096 0
< 5,238
[ia 7,858
307 21201 A 13,096 13,096 0
< 5,238
i 7,858
MBS XALS 2 = 13,096 13,096 0




AN =oAL
=B IS EFINEES VEESES &Y
Sl HOoHA L Xtel A
5 - 4
A - HE B9 (3A) - HRAY - BHYS e
OZHIEx= A 13,096
—FOHY MESFEIADY HHT20IAMY(2Y)
13,096, 000& 13,096
< 5,238
[ia 7,858
ZOH QI AHZ| & O 3 A & O =Y 96,266 96,266
= 9,025
= 28,588
s 58,653
ZOHQIMEHOIH S 18,216 18,216
< 8,308
e 9,908
301 L2 A F 3,216 3,216
< 1,608
e 1,608
01 MEIBZE 2053 3,216 3,216
OEHIEXAY 3,216
—AEFHOHQ =4 X (38) 1,956,000 1,956
< 978
[ 978
—S3HLFM 2AHE FHSH (1Y)
600,000 600
= 300
[ 300
— 2T o5y HMates XN (1E)
660,000& 660
< 330
s 330
307 eI+l & 15,000 15,000
= 6,700
s 8,300
11T MISRASEX 15,000 15,000
OEHIEXAY 15,000
—AIZZOMC JI=ZHE NS 5,000,000& 5,000
< 2,500
i 2,500
—HEEMY JIssESs u=s 2,000,000& 2,000
< 1,000
s 1,000
— ZOHStA gty gelstw 8,000,000 8,000
< 3,200
s 4,800
O 2HAXNREEHZ S 50,000 50,000
< 15,000
s 35,000
307 120l & 50,000 50,000
S 15,000




SH: FOIMBIHA
M DONQU=NET(ASIZST/HAANEST )
CHl T 0N ARSI & O % A & T Of [ (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 35,000
11T MISXASEX 50,000 50,000 0
OEHIEXZAY 50,000
— o XJHH 50,000,000& 50,000
< 15,000
e 35,000
USSR EH XA 2,850 2,850 0
= 1,425
s 1,425
301 et d = 2,850 2,850 0
= 1,425
[ia 1,425
01 MEI2EZE+06l= 2,850 2,850 0
OIHIEx= At 2,850
—HMHA ST A (50¥) 2,850,000 2,850
= 1,425
s 1,425
SHEZO A F=EHIHZALS 15,200 15,200 0
= 7,600
< 2,280
s 5,320
402 2I2H X201 M 15,200 15,200 0
= 7,600
< 2,280
[ia 5,320
01 B2t AL E X 15,200 15,200 0
OZHIE= AL 15,200
—SOHEZMHY FEIHE =AY
3,800,000& 4= 15,200
= 7,600
< 2,280
[ 5,320
SSHEMHA=HEZIMNE =AY 10,000 10,000 0
< 3,000
e 7,000
402 RIZFX201 A 10,000 10,000 0
< 3,000
s 7,000
01 It =2 AL B X 10,000 10,000 0
OEHIEXAY 10,000
—SSEMY =HESZIMLAY
5,000,000 *20H A~ 10,000
< 3,000
s 7,000
SOHRIDI S X 140,209 146,787 A6,578
= 45,826
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SN - EAEA) - MRAL
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o

=

i
2m

M

35,709
58,674

MW

2,793
1,955
251
587

3,000

A 207

MW

2,793
1,955
251
587

3,000

A 207

2,793,000

MW

2,793
2,793

2,793
1,955
251
587

3,000

A 207

ZOHOtSIHEX A

HH W

60,616
42,431
9,028
9,157

65,787

A5, 171

307 glztol &

HH W

60,616
42,431
9,028
9,157

65,787

A5 171

A2 S XA 2 &
O=HEX A
— LY MEMEIAAY(26Y) 57,621,000&

— UL 2R MY XJAAY(3E)

1,920,000&

AT AL (1Y)
1,075,0002

o

UL R RN U AT

HoH W

60,616
60,616

57,621
40,335
8,643
8,643

1,920
1,344
288
288

1,075
752
97
226

65,787

A5, 171

ZOHCIIIEXNRAH2SE

=

Mo

75,000

26,250
48,750

75,000

307 glztol &

EURLY

75,000

26,250
48,750

75,000

A S XA 2 &

75,000

75,000




SN FOIMET A
H: HHOIEXNZST(AMIEX/HLHSAH)
Eel: HOHUIISAE (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OEHEZAY 75,000
— X0 CIJIEXNR}ANAH 24
75,000,000 =10 A 75,000
=} 26,250
= 48,750
S HHALEESHOX ALY 1,800 3,000 A 1,200
2 1,440
= 180
= 180
307 gizto| A 1,800 3,000 A 1,200
2 1,440
& 180
= 180
1A EXAIEE X 1,800 3,000 A 1,200
OZHIBEZANY 1,800
~HESY AT EXHE KW ()
600,000 600
= 480
& 60
= 60
—HdESAMH A X (2H) 1,200,000 1,200
= 960
= 120
= 120
ool Exasd 226,938 226,938 0
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Jl= &l 120,860 119,876 984
JlE&l 120,860 119,876 984
201 LB-2dH| 59,600 59,816 A216
01 At 22l 59,600 59,600 0
OFRNEA 1,831,000& »28H 51,268
O= &l 7,000 x28H 25! 4,900
OSIAHESAMI gtz 286,000 x1CH*12& 3,432
202 oddl 53,760 55,860 A2,100
01 = LH o4 1l 53,760 55,860 A 2,100
OZHodH 110,000& 28 » 128 36,960
O&2| o di 75,0003 x28H «8 16,800
203 YR =&l 7,500 4,200 3,300
01 122 =4 3,300 0 3,300
OJI22dge =2l 275,000& 128 3,300
04 NI FAH 4,200 4,200 0
ORN2EYR=AHI 350,000& 122 4,200




